What is a half of 6 ?
What is a half of 40 ?

What is a quarter of 8 ?
What is a quarter of 40 ?
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1. Which of these shapes have been split in half ? (Yes o
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2. Which of these shapes have been split into quarters ? (Yes or No).
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3. % % % % There are 10 pins in a box.
QJ \ Mr. Darcy took half of the pins.
\ \

How many pins did he take ?
4. Pete has 16 one pence coins.

He gives a quarter of them to Simon.

How many coins does Pete now have >

5. Addison

9

Addison has 20 Sports tops.
A quarter of them gre football tops.

How many are NOT football tops ?
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